CraTnueckn onpeae/jJamnMasd pamMa

Haiitu peakiuu omop.

3amaga M21.1.

q1 = bxH /M, q¢o = 18xkH/m, P = 15xH.
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3amaua M21.2.

q1 = 6kH /M, g3 = 15kH/Mm, P = 3xH.
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3amagya M21.3.
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¢1 = 18xH /M, ¢o = 30kH /M, P = 30xH.
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3agaua M21.4.
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q1 = 18xkH /M, ¢o = 12kH /M, P = 15xH.
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M21
TBETHI.
TaTUYECKH OIIpeaejnMasd paMa
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M21 daitn 21m222-AnsA

Ne XA XB YA YB

11 107.000[-132.000] 225.000] -66.000
2|-445.500| 472.500(-531.000| 378.000
3| 227.063]-143.063| -35.550(-114.450
4| 30.600{ '74.400] -40.500] 7.500




